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Directions: There are ten incomplete sentences in this part．For

each sentence there are four choices marked A,B,C and D ．Choose

the one that best completes the sentence．Mark your answer on the

ANSWER SHEET with a single line through the center． 1．If only

______ I the books on the reading list． A．read B．have read C

．had read D．could have read 2．The museum’s new building

will have ______ the exhibition space as before． A．three times B

．three times like C．three times as D．three times larger 3．When

you are in your room, leave the door ______ so that your visitors do

not have to knock． A．open B．opened C．opening D．being

open 4．Mobile phones are proved to ______ with flight

instruments and have a negative effect on flight safety． A．interfere

B．disturb C．interrupt D．trouble 5．Retail sales volume in local

urban and rural areas rose 57．8% and 46．8% __last year． A

．individually B．respectively C．correspondingly D

．accordingly 6．______ The science of medicine, progress has

been very rapid lately, is perhaps the most important of all sciences．

A．to which B．with which C．in which D．among which 7．It

was the training that he had when he was ______ made him such a

good manager． A．has B．later C．which D．that 8．This pair

of glasses is similar to ______ you bought last week． A．the one B

．the one what C．the ones what D．the ones 9．The terrible



noise from that houseis almost ______ me mad． A．mining B

．driving C．setting D．puffing 10．Peter likes watching TV

______ to the cinema． A．more than to go B．more than going C

．than going D．rather than to go 100Test 下载频道开通，各类

考试题目直接下载。详细请访问 www.100test.com 


